
2006�̧� 7�Z4 13{9�

Problem 4. ��6£§_� ~½Ó&ñ
d���̀¦ ëß�7á¤
���H &ñ
Ãº�©� (x, y)\�¦ �̧¿º ½̈
�#���.

1 + 2x + 22x+1 = y2.

Problem 5. &ñ
Ãº >�Ãº\�¦ °ú���H n	� ���½Ód�� P (x)ü< e��_�_� �ª�_� &ñ
Ãº k\� @/
�#�,
���½Ód�� Q(x) = P (P (· · ·P (P (x)) · · ·))\�¦ Òqty��
���. éß�, n > 1s��¦, P��H k��� ����èß���.
s�M:, Q(t) = t\�¦ ëß�7á¤
���H &ñ
Ãº t_� >hÃº��H n>h s�
�e���̀¦ �Ð#���.

Problem 6. �̂¦2�¤��y��+þA P_� y�� ��� b\� @/
�#�, b\�¦ ô�Ç ���Ü¼�Ð ��t����"f P\� �í�<Ê
÷&��H ���y��+þA_� þj@/V,�s�\�¦ @/6£xr�v���. �̂¦2�¤��y��+þA P_� y�� ���\� @/6£x÷&��H þj@/V,�s�
[þt�̀¦ �̧¿º �8ô�Ç °úכ�Ér P_� V,�s�_� ¿º C� s��©�e���̀¦ �Ð#���.
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